TABLE OF LAPLACE TRANSFORMS

MATH 2584C, SECTION 5, SPRING 2020

Throughout a, b, ¢ are constants, n > 0 is an integer, and f(¢), g(t) are functions.

March 18:
£l = [ et
L{1} = % s>0
L{t} = Z—; s>0
£{?) = s% 5> 0
cit"} = s% 5> 0,
L{e"} = ﬁ s>a
L{af(t) +bg(t)} = al{f ()} +bL{g(t)}
March 30:
{ WY = s {y(0) -~ 9(0)
April 1:
L{sinat} = 52;#& s>0
L{cosat} = 82_'_% s>0
If L{f(t)} = F(s) then L{e" f(t)} = F(s —a)
LTHF(s)} = e"LTHF(s +a)}
April 3:
LUt —e)y = < >0,
LU =) f()} = e “L{f(t+ )}
LUt —c)g(t — o)} = e L{g(t)}
April 8:
LU £ (1)) =~ LU D)
of [ sor9=ryary = 2{ [ 1=y gy ar = clr@)eto)
April 10:

L{(t—c)}=e"



